As required by Florida Statute 553.842 and Florida Administrative Code 9B-72, please provide the information and approval numbers on the building

components listed below if they will be utilized on the construction project for which you are applying for a building permit. We recommend you

contact your local product supplier should you not know the product approval number for any of the applicable listed products. Statewide approved

products are listed online @ www.floridabuilding.org

Category/Subcategory Manufacturer

Product Description

Approval Number(s)

1. EXTERIOR DOORS

. SWINGING Jeld Wen

steel wood edge

15474.2

. SLIDING

. SECTIONAL/ROLL UP

A
B
C
b

. OTHER Silverline

gliding patio door

14998.2

2. WINDOWS

. SINGLE/DOUBLE HUNG

. HORIZONTAL SLIDER

. FIXED

A
B
C. CASEMENT
D
E

- MULLION

. SKYLIGHTS

F
G. OTHER

3. PANEL WALL

A. SIDING
B. SOFFITS

. STOREFRONTS

C
D. GLASS BLOCK
E. OTHER

. ROOFING PRODUCTS

. ASPHALT SHINGLES

. ROOFING TILES

. SINGLE PLY ROOF

4
A
B. NON-STRUCTURAL METAL
C
D
E

. OTHER

. STRUCTURAL COMPONENTS

. WOOD CONNECTORS

. WOOD ANCHORS

. INSULATION FORMS

. LINTELS

5
A
B
C. TRUSS PLATES
D
E
F

. OTHERS

6. NEW EXTERIOR

ENVELOPE PRODUCTS

The products listed below did not demonstrate product approval at plan review. | understand that at the time of inspection of these products, the following

information must be available to the inspector on the jobsite; 1) copy of the product approval, 2) performance characteristics which the product was tested and

certified to comply with, 3) copy of the applicable manufacturers installation requirements.

Further, | understand these products may have to be removed if approval cannot be demonstrated during inspection.

O&Mﬂ(?b Qﬂ'ué—/ 10/21/2021

Contractor OR Agérft Signature Date

NOTES:




AMERICAN CRAFTSMAN WINDOWS

SILVER LINE WINDOWS AND DOORS

70 SERIES / V3 SERIES/(5800)
GLIDING PATIO DOOR
1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND (NON_H VHZ) (NON-IMPA CT)

MANUFACTURED TO COMPLY WITH THE CURRENT EDITION

AMERICAN CRAFTSMAN WINDOWS
SILVER LINE WINDOWS AND DOORS

ONE SILVERLINE DRIVE
NORTH BRUNSWICK, NJ 08902
PH: (888) 741-0354

\

GLIDING PATIO DOOR
(NON-HVHZ)(NON-IMPACT)

70 SERIES / V3 SERIES / (5800)
GENERAL NOTES & GLAZING DETAILS

TITLE:

398 E. DANIA BEACH BLVD., STE. 338

BUILDING DROPS, INC.

PREPARED BY:

DANIA BEACH, FL 33004

PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

REMARKS

BY

DATE

6TH FBC EDITION

FM

10/17

7TH FBC EDITION

LH

10/20

THE INSTALLATION DETAILS DESCRIBED HEREIN
ARE GENERIC AND MAY NOT REFLECT ACTUAL
CONDITIONS FOR A SPECIFIC SITE. IF SITE
CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A
LICENSED ENGINEER OR ARCHITECT SHALL
PREPARE SITE SPECIFIC DOCUMENTS FOR USE

WITH THIS DOCUMENT.

FLORIDA BUILDING CODE (FBC), EXCLUDING HVHZ AND HAS
BEEN EVALUATED ACCORDING TO THE FOLLOWING: DESIGN PRESSURE TABLE
e AAMA/WDMA/CSA 101/1.5.2/A440-11
SIZE CONFIGURATION DESIGN PRESSURE MISSILE IMPACT RATING

2. ADEQUACY OF THE EXISTING STRUCTURAL

CONCRETE/MASONRY, 2X FRAMING, AND METAL FRAMING AS A ] ]

MAIN WIND FORCE RESISTING SYSTEM CAPABLE OF 96.0" X 82.0 X0 +50/-50 PSF NON-IMPACT

WITHSTANDING AND TRANSFERRING APPLIED PRODUCT LOADS

TO THE FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER 96.0" X 96.0" X0 +30/-30 PSF NON-IMPACT

OR ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION.
3. 1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND 96.0" X 82.0 X0 +15/-15 PSF NON-IMPACT

ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE

STRUCTURE. BUCK DESIGN AND INSTALLATION IS THE 96.0" X 80.0" X0 +20/-20 PSF NON-IMPACT

RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD

FOR THE PROJECT OF INSTALLATION. 790" X 80.0" %O +35/-35 PSF NON-IMPACT
4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC

AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC 76.0" X 82.0" X0 +25/-25 PSF NON-IMPACT

SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE

FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC

DOCUMENTS FOR USE WITH THIS DOCUMENT IN NON-HVHZ ALt OF CONTENTS
AREAS. IN HVHZ AREAS, ONE TIME PRODUCT APPROVAL TO BE
OBTAINED FROM MIAMI-DADE RER OR AHJ. SHEET | REVISION SHEET DESCRIPTION
1 B GENERAL NOTES
5. APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED ON THIS 2 B ELEVATIONS & ANCHOR LAYOUTS
PRODUCT IN AREAS REQUIRING IMPACT RESISTANCE. 2.1 B ELEVATIONS & ANCHOR LAYOUTS & GLAZING DETAILS
3 B VERTICAL SECTIONS
6. WINDOW FRAME MATERIAL: PVC
4 B HORIZONTAL SECTIONS
7. GLASS MEETS THE REQUIREMENTS OF ASTM E 1300 GLASS > B INSTALLATION NOTE> & ANCHOR DETAILS & SCHEDULE

CHARTS. SEE SHEET 2.1 FOR GLAZING DETAILS.

Reason: \a g

Digitally signe iermes F Norero
q g thligdo;ument

s

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

F

“FL 14998

pate:  (09.27.17

DWG. BY:

CL

CHK. BY:

HEN

SCALE: NTS

pwaG. #: S\WWDO038

SHEET:

1

OF

5/



AutoCAD SHX Text
THE INSTALLATION DETAILS DESCRIBED HEREIN  ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR ARCHITECT SHALL  PREPARE SITE SPECIFIC DOCUMENTS FOR USE  WITH THIS DOCUMENT.

AutoCAD SHX Text
HERMES F. NORERO, P.E. FLORIDA P.E. No 73778 BUILDING DROPS, INC 398 E. DANIA BEACH BLVD. # 338 DANIA BEACH, FL 33004 FBPE CERT. OF AUTHORIZATION No. 29578


UNIT MAX.
WIDTH 95.625"

D.L.O MAX.
WIDTH 42.25"

55

UNIT
MAX.
HEIGHT
96.0"

&)
N/

1
5.0" (TYP.)——f_

1.5" FROM
rCORNER (TYP.)

Ilel

IIOII

i
N/

D.L.O. MAX.
| @ 88.20"
ELEVATION
1.5" FROM

i

~~ CORNER (TYP.)

Ilel

IIOII

?

ANCHOR LAYOUT

NAIL FIN

r CORNER (TYP.)

UNIT MAX.

D.L.O MAX.
WIDTH 42.25"

WIDTH 95.625"

UNIT My nAn
MAX. X BN O D.L.O. MAX.
HEIGHT 5 HEIGHT
S
/D
&) =
N
ELEVATION
4.5" FROM
™~ CORNER (TYP.)
’—r 12.0" MAX (TYP.)
] ] [] [
i " lloll L
—12.0" MAX (TYP)
6.0" FROM

ANCHOR LAYOUT

THROUGH FRAME

\

AMERICAN CRAFTSMAN WINDOWS
SILVER LINE WINDOWS AND DOORS

ONE SILVERLINE DRIVE
NORTH BRUNSWICK, NJ 08902
PH: (888) 741-0354

DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

S
=z
=
[a
o
o
o
)
=
o
=
>
o

o
o
m
ui
=
wv
fa)
=
o
T
=}
I
i
o
<
=
<
o
ui
o
(o)}
m

GLIDING PATIO DOOR
(NON-HVHZ)(NON-IMPACT)
ELEVATIONS & ANCHOR LAYOUTS

70 SERIES / V3 SERIES / (5800)

>
[2a]
[a)]
w
o
<
a
w
o
a

TITLE:

REMARKS BY | DATE

6TH FBC EDITION FM[10/17

7TH FBC EDITION LH |10/20

THE INSTALLATION DETAILS DESCRIBED HEREIN
ARE GENERIC AND MAY NOT REFLECT ACTUAL
CONDITIONS FOR A SPECIFIC SITE. IF SITE
CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A
LICENSED ENGINEER OR ARCHITECT SHALL
PREPARE SITE SPECIFIC DOCUMENTS FOR USE
WITH THIS DOCUMENT.

\.

S 7,
S s
Sy 3 &
$ X
- -
= % * =
= o =
X G 3
- O &<

.;K\

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

F

"FL 14998

pate:  09.27.17

DWG. BY: CHK. BY:
CL HFEN

SCALE: NTS

owaG. #: S\WWDO038

SHEET:

2

OFSJ



AutoCAD SHX Text
THE INSTALLATION DETAILS DESCRIBED HEREIN  ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR ARCHITECT SHALL  PREPARE SITE SPECIFIC DOCUMENTS FOR USE  WITH THIS DOCUMENT.

AutoCAD SHX Text
HERMES F. NORERO, P.E. FLORIDA P.E. No 73778 BUILDING DROPS, INC 398 E. DANIA BEACH BLVD. # 338 DANIA BEACH, FL 33004 FBPE CERT. OF AUTHORIZATION No. 29578


UNIT MAX.

[

WIDTH 95.625"

D.L.O MAX.
WIDTH 42.25"

—

@

||X|| "O"

|

-
~/

UNIT D.L.O. MAX.
MAX. @ HEIGHT
HEIGHT l v 37 75
98.5"
/A
N
ELEVATION
9" MAX. (TYP.)
4.5" FROM
6.0" FROM

rCORNER (TYP.)

" Iis" MAX. (TYP)

=~ CORNER (TYP.)

f |

17" MAX. (TYP.) —

1.5" FROM |1

"X" Iloll

rCORNER (Typ.) |4

?

ANCHOR LAYOUT
NAIL FIN

4.5" FROM

™" CORNER (TYP.)

3/4" O.A. INSULATED GLASS

EXTERIOR INTERIOR

0.5" MIN. GLASS Q 74
BITE C - >

GLAZING DETAIL

GLAZING NOTE:

e GLASS THICKNESS AND TYPE SHALL
COMPLY WITH ASTM E-1300 GLASS
CHARTS REQUIREMENT

\

AMERICAN CRAFTSMAN WINDOWS
SILVER LINE WINDOWS AND DOORS

ONE SILVERLINE DRIVE
NORTH BRUNSWICK, NJ 08902
PH: (888) 741-0354

DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

S
=z
=
[a
o
o
o
)
=
o
=
>
o

o
o
m
ui
=
wv
fa)
=
o
T
=}
I
i
o
<
=
<
o
ui
o
(o)}
m

70 SERIES / V3 SERIES / (5800)
GLIDING PATIO DOOR
(NON-HVHZ)(NON-IMPACT)
ELEVATIONS & ANCHOR LAYOUTS

>
[2a]
[a)]
w
o
<
a
w
o
a

TITLE:

REMARKS BY | DATE

6TH FBC EDITION FM[10/17

7TH FBC EDITION LH |10/20

THE INSTALLATION DETAILS DESCRIBED HEREIN
ARE GENERIC AND MAY NOT REFLECT ACTUAL
CONDITIONS FOR A SPECIFIC SITE. IF SITE
CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A
LICENSED ENGINEER OR ARCHITECT SHALL
PREPARE SITE SPECIFIC DOCUMENTS FOR USE
WITH THIS DOCUMENT.

\.

S 7,
S s
Sy 3 &
$ X
- -
= % * =
= o =
X G 3
- O &<

.;K\

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

F

"FL 14998

pate:  09.27.17

DWG. BY: CHK. BY:

CL HEN

SCALE: NTS

owaG. #: S\WWDO038

SHEET:
2.1

OFSJ



AutoCAD SHX Text
THE INSTALLATION DETAILS DESCRIBED HEREIN  ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR ARCHITECT SHALL  PREPARE SITE SPECIFIC DOCUMENTS FOR USE  WITH THIS DOCUMENT.

AutoCAD SHX Text
HERMES F. NORERO, P.E. FLORIDA P.E. No 73778 BUILDING DROPS, INC 398 E. DANIA BEACH BLVD. # 338 DANIA BEACH, FL 33004 FBPE CERT. OF AUTHORIZATION No. 29578


MAX FRAME HEIGHT

S

S
=
o

EXTERIOR

SEE GLAZING

/_ DETAIL SHEET 2.1

INTERIOR

SEE GLAZING

\/_ DETAIL SHEET 2.1
\
I/

B

/A VERTICAL SECTION

3/

MAX FRAME HEIGHT

C ]

V4

D.L.O.

-

SEE GLAZING

/ DETAIL SHEET 2.1
\
/

EXTERIOR

i

s

\
\
7 ) N\~ DETAILSHEET 2.1

SEE GLAZING

\
/

=

/B VERTICAL SECTION

3/

THROUGH FRAME

~

AMERICAN CRAFTSMAN WINDOWS
SILVER LINE WINDOWS AND DOORS

ONE SILVERLINE DRIVE
NORTH BRUNSWICK, NJ 08902
PH: (888) 741-0354

BUILDING DROPS, INC.
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

398 E. DANIA BEACH BLVD., STE. 338

VERTICAL SECTIONS

70 SERIES / V3 SERIES / (5800)
GLIDING PATIO DOOR
(NON-HVHZ)(NON-IMPACT)

7N\

PREPARED BY:

TITLE:

REMARKS BY | DATE

6TH FBC EDITION FM[10/17

7TH FBC EDITION LH |10/20

INTERIOR

THE INSTALLATION DETAILS DESCRIBED HEREIN
ARE GENERIC AND MAY NOT REFLECT ACTUAL
CONDITIONS FOR A SPECIFIC SITE. IF SITE
CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A
LICENSED ENGINEER OR ARCHITECT SHALL
PREPARE SITE SPECIFIC DOCUMENTS FOR USE
WITH THIS DOCUMENT.

\~

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

F

"FL 14998

pate:  09.27.17

DWG. BY: CHK. BY:
CL HFEN

SCALE: NTS

owaG. #: S\WWDO038

SHEET:

3

OFSJ



AutoCAD SHX Text
THE INSTALLATION DETAILS DESCRIBED HEREIN  ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR ARCHITECT SHALL  PREPARE SITE SPECIFIC DOCUMENTS FOR USE  WITH THIS DOCUMENT.

AutoCAD SHX Text
HERMES F. NORERO, P.E. FLORIDA P.E. No 73778 BUILDING DROPS, INC 398 E. DANIA BEACH BLVD. # 338 DANIA BEACH, FL 33004 FBPE CERT. OF AUTHORIZATION No. 29578


i‘—ﬁ

(AN

SEE GLAZING
DETAIL SHEET 2.1

SEE GLAZING
DETAIL SHEET 2.1

\4/

—T=] ISR /) INTERIOR _
S/ — D= )
j] = | ! ’ SEE GLAZING
o =l / \ DETAIL SHEET 2.1
i yd N\ — INTERIOR
I 2 > N
= —": \g <> < =] \ i
¥ | =
Jak \
) SILEs e e .
=) EXTERIOR EXTERIOR
D.L.O. D.L.O.
MAX. FRAME WIDTH
HORIZONTAL SECTION /B \HORIZONTAL SECTION o
W MEETING RAILS W
SEE GLAZING SEE GLAZING

"—_ﬁ

[
0

—J
nnl
|

[
]

NAIL FIN
j
[ () —

A J
N\
\

S

=y

=

|

AMERICAN CRAFTSMAN WINDOWS
SILVER LINE WINDOWS AND DOORS

NORTH BRUNSWICK, NJ 08902

ONE SILVERLINE DRIVE

PH: (888) 741-0354

\

DETAIL SHEET 2.1

INTERIOR

EXTERIOR

DETAIL SHEET 2.1

HORIZONTAL SECTION

U o
S~ Z 3
R L B, 0§
V) v o wvi
L3Y £ agERES
NOS © Cz2233%
was g E-885
Ly O Duuﬂgz
o= 4 SS32 3
[\ " ODaoaa2
w9 - Z <<% ¢
ng= & =zzz:ss
nmax< =z Q33 &
> N O —r :
Oxr ~ -
>§>E .. ™
RN E
~J
§ © % E
o < g
=AN o
== o
REMARKS BY | DATE
6TH FBC EDITION FM|10/17
7TH FBC EDITION LH [10/20

NAIL FIN

~

/ — l=|_|
/ ;}\—/
! SEE GLAZING I[
| DETAIL SHEET 2.1
\ —
\ INTERIOR
- o
W H-
< N \ —] \ I_ —
\ /
, | <
//I \
i ‘- Da
I B | o
EXTERIOR %
D.L.O. D.L.O. ‘

HORIZONTAL SECTION

THROUGH FRAME

MAX. FRAME WIDTH

/EHORIZONTAL SECTION

\4/

MEETING RAILS

“F\ HORIZONTAL SECTION

\4/

THROUGH FRAME

THE INSTALLATION DETAILS DESCRIBED HEREIN
ARE GENERIC AND MAY NOT REFLECT ACTUAL
CONDITIONS FOR A SPECIFIC SITE. IF SITE
CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A
LICENSED ENGINEER OR ARCHITECT SHALL
PREPARE SITE SPECIFIC DOCUMENTS FOR USE
WITH THIS DOCUMENT.

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

F

"FL 14998

pATe:  (09.27.17
DWG. BY: CHK. BY:

CL HFEN
SCALE: NTS

owaG. #: S\WWDO038

SHEET:

4

OFSJ



AutoCAD SHX Text
THE INSTALLATION DETAILS DESCRIBED HEREIN  ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR ARCHITECT SHALL  PREPARE SITE SPECIFIC DOCUMENTS FOR USE  WITH THIS DOCUMENT.

AutoCAD SHX Text
HERMES F. NORERO, P.E. FLORIDA P.E. No 73778 BUILDING DROPS, INC 398 E. DANIA BEACH BLVD. # 338 DANIA BEACH, FL 33004 FBPE CERT. OF AUTHORIZATION No. 29578


~=— MIN. EDGE DISTANCE ‘

SUBSTRATE BY OTHERS AMERICAN CRAFTSMAN WINDOWS
»‘ MIN. EMB. SILVER LINE WINDOWS AND DOORS
SUBSTRATE BY OTHERS
/ ONE SILVERLINE DRIVE
MIN. EDGE ) NORTH BRUNSWICK, NJ 08902
[ DISTANCE PH: (888) 741-0354
MIN. EMB.
L4 - J .
] 2.0 gl o
n 00 ) =] (,n\ & S a
3/8" MAX. _| WES 2| &cgessd
I] SHIM SPACE NOoSBE| Q:::23d
" nQsSkED -85 %
Wy T Own Ooocoag=
022« S35 3
x X ODana:
[l U=QOzwn > <<=y s
wWg=0z £:zzf3%¢%
M Qa <k |<_E [a W= @
EXTERIOR INTERIOR EXTERIOR INTERIOR > (9 E § w 5' u =
_— _— N = S < x @
< -
83T 59a
x < ) Ia)
w O (23 Zlw
A ANCHOR DETAIL B ANCHOR DETAIL - I
5 E S % E
\5/ NAIL FIN (HEAD) \5/ THROUGH FRAME (HEAD) E &
NOTE: REMARKS BY | DATE
SILL AND JAMB HAVE SIMILAR DETAILS
ANCHOR SCHEDULE 6TH FBC EDITION FM |10/17
METHOD SUBSTRATE ANCHOR SCHEDULE|  MIN EMBEDMENT ’g:gfiﬁgg 7TH FBCEDITION LH 110/20
WOOD: MIN. SG = 0.55| #14 WOOD SCREW 1.5" 0.75"
METAL: 18 GAUGE 3 THREADS MIN THE INSTALLATION DETAILS DESCRIBED HEREIN
INSTALLATION NOTES Steel, MIN. Fy = 33KSI #14 TEK SCREW |PENETRATION BEYOND 0.75" AREOSE%ESLCS AFhé% NAA;PECC:)I'II:_IEESFII_.I_ECﬁFA(SZITFUEAL
THROUGHFRAME | METAL SONDTIONS CAUSE STALLATION To DEVATe
1. ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR LOCATION SHOWN. CONCRETE. Py —— " o OM_ THE REQUREMENTS DETAILED HEREN,
£c=2000PSI : PREPARE SITE SPECIFIC DOCUMENTS FOR USE
2. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE MINIMUM NUMBER OF MASONRY: CMU per | /v mv 7Aoo " e WITH THIS DOCUMENT.
ANCHORS TO BE USED FOR PRODUCT INSTALLATION OF THE MAXIMUM SIZE LISTED. ASTM C90 :
WOOD: MIN. SG = 0.55 #8 WOOD SCREW 1.5" 0.75"
3. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A TOLERANCE OF +1.000 L
INCH THE DEPICTED LOCATION & SPACING IN THE ANCHOR LAYOUT DETAILS (I.E., METAL: 18 GAUGE Steel, 3 THREADS MIN .
WITHOUT CONSIDERATION OF TOLERANCES). TOLERANCES ARE NOT CUMULATIVE MIN. Fy = 33KS| #8 TEK SCREW PENETRATION BEYOND 075

FROM ONE INSTALLATION ANCHOR TO THE NEXT.

4. SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD BEARING SHIM(S).
MAXIMUM ALLOWABLE SHIM STACK TO BE 3/8 INCH. SHIM WHERE SPACE OF 1/16
INCH OR GREATER OCCURS. SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY
PLASTIC OR BETTER.

7, 8 (ORI
7, S A \‘\ "
5. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL FINISHES, INCLUDING ‘e £9B okerS: p.g AN
BUT NOT LIMITED TO STUCCO, FOAM, BRICK VENEER, AND SIDING. B Eans e

6. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE MADE OF
CORROSION RESISTANT MATERIAL OR HAVE A CORROSION RESISTANT COATING.

7. FOR MASONRY OR CONCRETE OPENINGS, A 1X WOOD BUCK MAY BE USED
(OPTIONAL) AS LONG AS THE MINIMUM EMBEDMENT AND EDGE DISTANCE
REQUIREMENTS ARE STILL MET WITHIN THE CORRESPONDING HOST SUBSTRATE. SEE
GENERAL NOTE #3 ON SHEET 1 FOR MORE INFORMATION.

DWG. BY: CHK. BY:
8. FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL INSTALLATION CL HFN
ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE IS MEASURED FROM FREE EDGE OF
BLOCK OR EDGE OF MORTAR JOINT INTO FACE SHELL OF BLOCK. SCALE: NTS
9. INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH ANCHOR owG.#: S\WDO038
MANUFACTURER'S INSTALLATION INSTRUCTIONS, AND ANCHORS SHALL NOT BE USED —

IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY
THE ANCHOR MANUFACTURER.

398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

F

"FL 14998

pate:  (09.27.17

S

OFSJ



AutoCAD SHX Text
THE INSTALLATION DETAILS DESCRIBED HEREIN  ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR ARCHITECT SHALL  PREPARE SITE SPECIFIC DOCUMENTS FOR USE  WITH THIS DOCUMENT.

AutoCAD SHX Text
HERMES F. NORERO, P.E. FLORIDA P.E. No 73778 BUILDING DROPS, INC 398 E. DANIA BEACH BLVD. # 338 DANIA BEACH, FL 33004 FBPE CERT. OF AUTHORIZATION No. 29578


JELD-WEN DOOR
INSTALLATION DETAILS
STEEL 24 GA. WOOD EDGE
OPAQUE W/ FULL LITE SIDELITES

TABLE 1

DESIGN PRESSURE RATING:

SIZE

QUALIFIES: OPAQUE ACTIVE PANELS WITH NON-IMPACT GLASS SIDELITES| 5 >

MAX. PANEL WIDTH = 35 3/4"|

8-0 TALL SYSTEMS:

(XX ) (XXO) (OXXO) ( X ) (OX) (XO) (OXO)

UP TO 12'-0" X 8'-0"
ouTswing | POSITIVE +35%
OUTSWING/INSWING GENERAL NOTES NEGATIVE _ 35*
1. THIS PRODUCT IS DESIGNED TO COMPLY WITH CURRENT INTERNATIONAL BUILDING CODE (1.B.C.) & INTERNATIONAL RESIDENTIAL INSWING |_POSITIVE +35%
CODE (I.R.C.) AND THE CURRENT FLORIDA BUILDING CODES (FBC), EXCLUDING HVHZ AND HAS BEEN EVALUATED IN ACCORDANCE NEGATIVE ¥
TO ASTM E283-04, E330-02, E331-00 AND AAMA 1304-02. COMPONENTLIST
2. 1X AND 2X WOOD BUCKS BY OTHERS AND MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. BUCK ITEM DESCRIPTION MATERIAL | QTY.
MATERIAL MUST HAVE A SPECIFIC GRAVITY OF 0.55 OR GREATER. 1 |NON-COMPRESSION SHIM (0.25" MAX. THK.) WOOD | AS REQ.
2 |2x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER) WOOD | AS REQ.
3. PRODUCT ANCHOR TYPES AND SPACING ARE SHOWN ON SHEET 7. DIMENSIONS SHOWN FOR ANCHOR SPACING ARE ALWAYS 3 |1x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER) WOOD | AS REQ.
FROM EDGE OF UNIT FRAME. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. 4 710 WOOD INSTALLATION SCREW W/ 1 172" MIN. EMBEDMENT_STEEL | AS REQ
4. THIS DOCUMENT SUPERCEDES OTHER ANCHOR INSTALLATION INSTRUCTIONS 5 [3/16" ITW TAPCON ANCHOR W/ 1 1/4" MIN. EMBEDMENT STEEL |ASREQ.
FOR NON-IMPACT RATED DOORS. FOR OTHER IMPORTANT 148 7/8" MAX. FRAME 6 |#9 X 2 1/2" PHILLIPS FLATHEAD WOOD SCREW STEEL | 20R4
DOGUVENT #JIN06 (INSTALLATION INSTRUGTIONS FOR | 37 MAX. 74" MAX. FRAME —»=| 7| #8 X 2" PHILLIPS FLATHEAD WOOD SCREW STEEL _|AS REQ.
PRE-HUNG ENTRY DOORS) FOUND ON THE JELD-WEN | oLo._| 8 [#9 X 3/4" PHILLIPS FLATHEAD WOOD SCREW STEEL |30 OR 60
WEBSITE: JELD-WEN.COM/LEARN/RESOURCES/ ‘SHT. #2‘ 9 [1"0.A.1G NON-IMPACT FRAME GLAZED BY ODL Polypropylene| 1 OR 2
INSTALLATION & FINISHING/. ‘V ‘ ‘ 10 |LOCK SERIES 400 STEEL 1
[5.>FLORIDA APPROVED SHUTTERS ARE NEEDED = N = = ~ 11 |DEADBOLT SERIES 660 STEEL 1
WHEN IMPACT PROTECTION IS REQUIRED. L O — 7 AN 12 |FLAT LITEKIT ALUMINUM | 1
5. @ 13 | ADA THRESHOLD ALUMINUM | 1
6. FOR DESIGN PRESSURE RATINGS, 83w O 3k NOTE: IF PRODUCT IS CONSTRUCTED USING THE OUTSWING ENDURA
SEE TABLE 1, SHEET 1. g2 3 /| FOB4566 (SHOWN BELOW), THEN PRODUCT DOES NOT REQUIRE
zZZ¢w OVERHANG PROTECTION. OTHERWISE, REMAINING SILLS LISTED ON s
£ SELCFSSJEE'ESRS& \é\;%?gssﬁ"" S 5 ( SHEETS 3 THRU. 6 HAVE NOT BEEN RATED FOR WATER INFILTRATION. Z: R
: 2zs & o IF AUTHORITY HAVING JURISDICTION VALIDATES THAT PRODUCT o33 bg
EXAMPLE:  3/16" =] |=— 39 % — =7 == MEETS THIS AND/OR OTHER OVERHANG Fﬂg EX09
2 £ =N e —r REQUIREMENTS, ‘ LENGTH re QS
( s 5 LISTED PRODUCT ) s g0 ®un
w MAY BE USED / 2 8235
o » L L N WHEN INSTALLED . ] Bl En Y
f ~ ACTIVE ~ INACTIVE AT LOCATION ENDURA FOB4566 '_]n ~ S5
FIXED FIXED PROTECTED e mz W ES K
0 X 8. BY OVERHANG SUCH THAT OVERHANG (OH) RATIO = AT 5 simEgL
NON-IMPACT LITE DOUBLE DO102RO V\>/</ iSLELsE(\J/’ngETES OXXO OH LENGTH + OH HEIGHT IS Z 1.0 ‘ == x e
37 1/2" MAX. O.A. SEE SHT. #2 - ( ) Lo
FRAME TYP. ] L ; OVERHANG 5z ;
‘ 75" MAX. FRAME—»‘ ‘ 75" MAX. FRAME——‘ ‘ 112 1/2" MAX. FRAME | 74" MAX. FRAME——‘ RATIO o2 4 "
‘ ‘ £ a o
\ &3 0 g
w =
‘ sIREE ==Y RN=7= - - =T= - oolao 57 8B
—
T © 3 )
o 2 2 4 4
6. T 0 5 ==
83w X - g0
EE 2L o
ZZ¢o A J J ol L | =g @2
% (% < N N e N wi E. <
o x N 0ELEvATION Z=|, 2
| U4 \ - L L b - Ly L Yo, BE|: 2
ACTIVE ACTIVE ACTIVE ACTIVE ACTIVE & U‘) ; 7 o
FIXED FIXED FIXED FIXED FIXED B ﬁ. < ; =
OPAQUE FULL LITE 6-0 X 8-0 ELEVATION 6-0 X 8-0 ELEVATION 9-0 X 8-0 ELEVATION = '.9 i g g o
3-0 X 8-0 ELEVATION DOUBLE (OX) DOUBLE (XO) TRIPLE (OXO) : OR=A g
SINGLE (X) & (O) ; * omee; 2/23/2012
-
- .
SHEET INDEX o ?LE' NONE
SHEET # DESCRIPTION 3 v, 5v: G.LUBBECKE
1 GENERAL NOTES, B.0.M., & ELEVATIONS =
2 OUTSWING/INSWING BOX MULLING DETAILS S crk.8v: S.SAFFELL
3 OUTSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD 1 01/30/20 DWG NUM. CHANGE FROM TB T H .
4 OUTSWING VERT. AND HORIZ. SECTIONS IN MASONRY/CONCRETE W142012FL TO DO15860. Digitally signed by Hermes F Norero i1 e T
5 INSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD ADA THRESHOLD ADDED Reason: | am approving this document mPF \ D015860
6 INSWING VERT. AND HORIZ. SECTIONS IN MASONRY/CONCRETE NO,| DATE BY . . . ' ' 2 \3 W
7 OUTSWING AND INSWING ANCHORING DETAILS REVISIONS Date: 2020.09.26 09:04.27 +02°00 FBPE CERT. OF AUTH.!NO. 20578 |s=r 1 o 7




BOX SIDELITE MULL
MAX. 4 UNITS
EXAMPLE: OXXO, OXO, OX

7-#8 X 2"
PFH SCREW AT
EACH MULLION TYP.

L,

APPLY DAP ALEX PLUS SILICONE
OR EQUIV. BETWEEN
JAMBS BEFORE MULLING

1" MIN. —=—

FIXED

ACTIVE

?

14 1/2" O.C.
TYP
5" TYP.—=

‘«
I

INTERIOR
SIDE

GLASS

3/4" AIRSPACE

~— 3/8" MIN. GLASS
—113/8" |— BITE

DETAIL B2
ODL NON-IMPACT GLAZING DETAIL
MAX. D.L.O: 21 1/8" X 79 1/8"

DETAIL A2

(7) FASTENER LOCATIONS AT
DOUBLE-BACK JAMB ATTACHMENT

1/8" TEMPERED

1/2 MIN.
GLASS BITE—~

DOW995
STRUCTURA
SEALANT

=

~——211/8" MAX. D.L.O.—

——

8- 7

o
N

79 1/8" MAX.D.L.O
|
I
===

7

ODL LIP-LITE NON-IMPACT
3-0 X 8-0 SHOWN

SEALANT |\ repioR

1/8" TEMPERED GLASS
EXTERIOR

SEALANT
DETAIL /.
20 1/2" MAXA DL} e,

62 5/8" MAX

WINDOWS & DOORS

Klamath Falls, OR 97601

Phone: (541) 882-3451
Fax: (541) 850-2609

3737 Lakeport Blvd.

-0 X 8-0 OPAQUE OPER. JELWEN'

WITH NON-IMPACT FULL SIDELITES

v

o

MULLING DETAILS AND GLAZING OPTIONS

Y,
B
FBPE CERT. dl‘ AUTH. ‘210 29578

24 GA. STEEL W.E. 12

PART OR ASSEMBLY

)
=
we: 2/23/2012

L]
&3.e: NONE

i;«c. ov: G.LUBBECKE

P ev: S.SAFFELL

DRAWING No.:

D015860

SHEET 2 ©OF 7




Klamath Falls, OR 97601
Phone: (541) 882-3451
Fax: (541) 850-2609

3737 Lakeport Blvd.

1" MIN. |=——=f=— 1"MIN. — °‘I 1" MIN. |=——==—— 1" MIN. W
11/2" MIN /@ 11/2" MIN /@ B
: : EXTERIOR
EMB. EMB. ==
R /@ ¢ /@ SEE NOTE #7
f f 9% f f f |78 ON SHEET 1
4 11/2" MIN. 2 /@ »
" 1/4" EMBED. .
MAX. 1/8" MAX.
SHIM SHIM / EXTERIOR * | 1" MIN
SEE NOTE #7 INTERIOR EXTERIOR SEE NOTE #7 INTERIOR 1" MIN | EXTERIOR
ON SHEET 1 ON SHEET 1 INTERIOR
OUTSWING OPERATING UNIT
| ) VERTICAL CROSS SECTION f
OUTSWING OPERATING UNIT OUTSWING FIXED UNIT N 11/2" MIN.
VERTICAL CROSS SECTION VERTICAL CROSS SECTION EMBED.
HEAD JAMB HEAD JAMB 4 ?
INTERIOR EXTERIOR »‘ ~—1" MIN
11/2" MIN. a‘l 1" MIN
EMBED. 1/4" MAX. HINGE DETAIL: | = OUTSWING FIXED UNIT
[ - ‘ SHIM ~ see NOTE #7 TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM#6) o\ VERT;ﬁ_’}(’;‘fNREOf? gifT'ON
7] | ONSHEET 1 CENTER TOP = 8 SCREWS (ITEM #8) EMBED.
1" MIN CENTER BOTTOM = 8 SCREWS (ITEM #8) : Z‘m
- BOTTOM = 8 SCREWS (ITEM #8) ? “
\ ‘——— 1" MIN mg
INTERIOR 1" MIN "
" MIN OUTSWING OPERATING UNIT -
: VERTICAL CROSS SECTION g
=
[=]
] 2
v |

EXTERIOR

FIXED UNIT
HORIZONTAL CROSS SECTION
OUTSWING SHOWN

1" MIN.

1" MIN.

‘

1/4" MAX.

= SHIM

11/2" MIN.
EMBED.

OUTSWING LATCH JAMB AT FRAME

HORIZONTAL CROSS SECTION

MINC 2]
INTERIOR
/ [ 1" MIN
SEE NOTE #7
ON SHEET 1 f
1/4" MAX.
SHIM ™ [
11/2" MIN.
EMBED.

OUTSWING HINGE JAMB AT FRAME

HORIZONTAL CROSS SECTION

1 3/4" MIN.

EMBED.

NOTES:

FOR PLACEMENT OF ITW TAPCON ANCHORS IN 2X BUCK OR

?

OUTSWING OPERATING UNIT
VERTICAL CROSS SECTION

ADA SILL

-0 X 8-0 OPAQUE OPER. J

OUTSWING VERTICAL AND HORIZONTAL SECTIONS|

%)
w
E
—
[TH}
=)
%)
-
5 o
1X BUCK CONCRETE/MASONRY OPENINGS, SEE SHEET 4 t 8
Q =
@OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION g E =
OF HEAD OR JAMB AS LONG AS MINIMUM EMBEDMENT AND wi E =
EDGE DISTANCE ARE ACHIEVED. R Wi l[,,,, E z
=
[3 ) ITEM#6, (#9 X 2 1/2") TWO SCREWS T@BE | I ’/, Wiz
HINGE AT JOB SITE, CLOSEST TO AT, On %% | E E 8
~ < : 2
[2 AT SILL, PLACE ANCHOR IN SILLEAS 2%\;) 5 & =
MAXIMUM SUPPORT. - ) 'O £ < g
=% . =" £
— : wwe: 2/23/2012
=0 B 4
=2 3 &G\ NONE
=0 y ‘%' v, sv: G.LUBBECKE
2, H & St SSAFFELL
“FLd \\
398 E ) : Ead38| e
. W
DAN’VA!P ’ \3 : D015860
FBPE CERT. OF AUTH.NO. 20578 [sveer 3 or 7




CONCRETE/

~— 1" MIN. 1" MIN. ~— 1" MIN. 1" MIN. MASONRY SEE NOTE #7 _ = 1"MIN. — 1" MIN.
ON SHEET 1 . o
“ 1 MIN, / BY OTHERS TYP. NTEROR 1 1 1" MIN.
11/4 B MIN. | 1" MIN.
MIN. | 1" MIN. 1" MIN.
EMBED INTERIOR EXTERIOR EXTEROR EMB-
S~ \/-\\\//\/Am\/ﬁ" //é [ & L3 N
| e Pl o] e 11/4" MIN. % A s : v o
N N N TR EMBED s st R S
i LT E—Tok S et [ @
CONCRETE/ 1174 — ! i MASONRY —_—
MASONRY { MIN.  f e S I N s \@
BY OTHERS 7 EMBED ~ . . 1/ i /
14 //// o0 00 ! 1 | 1IN ——] o
IJI,/:)'; g/m\(/l L@ 3 : J 1" MIN INTERIOR EXTERIOR
. EXTERIOR
SHIM O‘zEET",VC”Xf gs g’;gg’gg#gg OUTSWING FIXED UNIT e
NTERIOR SEE NOTE #7_/ INTERIOR VERTICAL CROSS SECTION SN SoterT ™ OUTSWING OPERATING UNIT
SEE NOTE #7 INTEROR |, | ON SHEET 1 - SILICONE AT SILL VERTICAL CROSS SECTION
ON SHEET 1 OUTSWING OPERATING UNIT OUTSWING FIXED UNIT - ) CONCRETE/ OPTIONAL 1X BUCK
VERTICAL CROSS SECTION VERTICAL CROSS SECTION ! MASONRY
HEAD JAMB HEAD JAMB BY OTHERS
INTERIOR EXTERIOR
HINGE DETAIL: 11/4" MIN.

TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6)
CENTER TOP = 8 SCREWS (ITEM #8)
CENTER BOTTOM = 8 SCREWS (ITEM #8)
BOTTOM = 8 SCREWS (ITEM #8)

EMBED

‘f 1" MIN

1" MIN {

OUTSWING OPERATING UNIT
VERTICAL CROSS SECTION

1" MIN. : NN \ SEE ITEM#7
MN T e ON SHEET 1
‘ j .0 »‘ | 1/4" MAX.
s s SHIM
11/4"
MIN. EMBED
OUTSWING OPERATING UNIT

N
N
NN T
N 1" MIN.
N
NN INTERIOR
) 8
i NN 1" MIN.
rmng, | ] AN 2X
L - »‘ ‘4/4" MAX)\  sgg l\flOTE #7
SHIM \_ON SHEET 1
11/4" MIN FIXED UNIT
EMBED. ' HORIZONTAL CROSS SECTION
OUTSWING SHOWN
SN
1" MIN. s
1"MIN. |2
1" MIN. > .
VI } e
1/4" MAX.
11/4" MIN. 1T SHIM
EMBED. -
OUTSWING HINGE JAMB AT FRAME
HORIZONTAL CROSS SECTION
NOTES:

HORIZONTAL CROSS SECTION
OPTIONAL 1X BUCK

ELIFWEN.

WINDOWS & DOORS

3737 Lakeport Blvd.
Klamath Falls, OR 97601
Phone: (541) 882-3451

Fax: (541) 850-2609

-0 X 8-0 OPAQUE OPER. J

WITH NON-IMPACT FULL SIDELITES

. / 11/4" MIN.
¢ EMBED [ -
L
4 v
. 1" MIN. @
S ATMIN r
s D T"MIN. vy
D 1" MIN. i
: < 1" MIN,
- ’ 1" MIN.
UAMAX. ||| . 5<
SHIM
‘ 1 1/4" MIN.
— = EMBED.
OUTSWING LATCH JAMB AT FRAME )
HORIZONTAL CROSS SECTION
v
<
CONCRETE/MASONRY 4 4,00 MIN.

DOPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM
EMBEDMENT AND EDGE DISTANCE ARE ACHIEVED.

@ITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP.

@AT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT.

BY OTHERS EMBED

OPTIONAL MASONRY/CONCRETE INSTALL
CROSS SECTION OF HEAD JAMB OR SIDE JAMB

Y,
FBPE CER'I? oF Al’lm.‘fld.'zgsm

24 GA. STEEL W.E. 12

BT

IN MASONRY/CONCRETE

OUTSWING VERTICAL AND HORIZONTAL SECTIONS|

PART OR ASSEMBLY

e 2/23/2012

&Z.e: NONE

[, o G.LUBBECKE

Pk ev: S.SAFFELL

DRAWING No.:

D015860

SHEET

4

OF

7




1"MIN. |=——=—— 1&'\1. 1"MIN. |=—==— 1"MIN.
f f EXTERIOR INTERIOR EXTERIOR INTERIOR
11/2" MIN. @ 11/2" MIN. @ i £ ]
EMB. | : EMB. |
114" T 174" 11/2" MIN. 11/2" MIN, /@
MAX. 1/8" MAX. EMBED. EMBED.
SHIM SHIM f f
SEE NOTE #7 EXTERIOR INTERIOR SEE NOTE #7 _/ EXTERIOR INTERIOR L_> 1" MIN w 1" MIN i . ‘
ON SHEET 1 ON SHEET 1 1" MIN | # L VMING =
INSWING OPERATING UNIT INSWING F,XED%N,T INSWING OPERATING UNIT INSWING OPERATING UNIT
VERTICAL CROSS SECTION VERTICAL CROSS SECTION VERTICAL CROSS SECTION nTERIORYERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB i h
@ nn" EXTERIOR 11
11/2" MIN. ° ] & E
EMBED. 1/4" MAX. ¢ gf" %
— ‘*S,.”M HINGE DETAIL: Y
e SEE NOTE #7 TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) 11/2" MIN.
/) | ONSHEET1 CENTER TOP = 8 SCREWS (ITEM #8) EMBED. .
1" MIN CENTER BOTTOM = 8 SCREWS (ITEM #8) | Z: o
BOTTOM = 8 SCREWS (ITEM #8) f ‘ °o 33 Lg
il - 1"MIN o | 2888
EXTERIOR — 1"MIN |~ e xdd
. 2x INSWING OPERATING UNIT . *e S 23
1" MIN. VERTICAL CROSS SECTION 525539
< a 3 £ 52
: - REE:
1 EXTERIOR neror | BEE| B S £ L
INTERIOR / " ?
FIXED UNIT W 13/4"MIN. - 2
HORIZONTAL CROSS SECTION EMBED. i g
INSWING SHOWN - 1 min # "MIN -] | 3 " E
= W v}
? INSWING OPERATING UNIT . 35 @
(3] VERTICAL CROSS SECTION ' 1/2" MIN. . o =
5 5% ADA SILL EMBED. . o g z
INTERIO ‘ ‘ ° 4 <
* ‘ 1" MIN < 2 g8
14 =~ 1"MIN 25 2
(o]
L4 et INSWING FIXED UNIT — § Zz
VERTICAL CROSS SECTION § 5 2
" " \ARED iy S
1" MIN. ‘ T"MINC 2] | Ot \\\‘ 2 "/, o 2 . E
[2> EXTERIOR ] FOR PLACEMENT OF ITW TAPCON ANCHORS IN . %, oz |3 &
S 2X BUCK OR 1X BUCK CONCRETE/MASONRY N 2, LEl|s g
X LGS OPENINGS, SEE SHEET 6 o o . = 2 =
LTI i SO .} £ 1 é x §
\ / [ 1" MIN OPTIONALLY, ANCHOR CAN BE PLACEDIN | & s X1 0O %= E @
1" MIN. SEE NOTE #7 (2 NARROW SECTION OF HEAD OR JAMB AS SHE Ng 7 7, . O - ==
?7 ? LONG AS MINIMUM EMBEDMENT AND EDGE : . omm: 2/23/2012
‘ 1/4" MAX. ON SHEET 1 1/4" MAX. DISTANCE ARE ACHIEVED. =0 : & e NONE
7|7 sHm SHIM 1 7 ITEM #6, (#9 X 2 1/2") TWO SCREWS TOBE | = % o G.LUBBECKE
~—— 11/2" MIN. 11/2" MIN. @INSTALLED IN TOP HINGE AT JOB SITE, f; '?(E . (3’ =
EMBED. EMBED. CLOSEST TO WEATHERSTRIP. 2o P SSAFFELL
INSWING LATCH JAMB AT FRAME INSWING HINGE JAMB AT FRAME 25l [ N |oRawING to.
AT SILL, PLACE ANCHOR IN SILL E. DANIA/BEACH B 3
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION @BASE MATERIAL FOR MAXIMUM SUPPORT. 398 D Ab{WQ ACH. FL 3_f,(_,,,\'z‘\'?‘,'8 D015860
FBPE CERT. OF AUTH.NO. 29578 |sest 5 o 7




CONCRETE/MASONRY N | T 7 ~— 1"MIN. 1" MIN
oy o,/ Y OTHERS 1" MIN. 1 MIN. CONCRETE/MASONRY e Y —
; : ) BY OTHERS MIN. |1 (1>
— 1" MIN. —] ~— 1"MIN. — INTERIOR  gyig. - M
1 174" 11/4" EXTERIOR | fl f |INTERIOR i B e S S N
MIN. 1" MIN. MIN. 1" MIN. /<:> ok v : A//<:>
EMBED I 0 = S I e — . . .
i R S 1 i S S ™ 11/4" MIN. 1.1/4" MIN. 1 b
: . - s S < EMBED CONCRETE/
. LR e et : se > g N MASONRY ———
T L /@ T = /@ BY OTHERS
1/4"
‘ ¢ MAX. ’
— /@ — "/@ SHIM INTERIOR
T A A INTERIOR EXTERIOR
f /// /////////// 1/t,-- /// /// /// »‘ 1"MIN | 1" MIN \ ‘« 1" MIN 1" MIN \
s o L MAX. SEE NOTE #7
r\jlﬁ:x Z INTERIOR SHIM INSWING OPERATING UNIT INSWING OPERATING UNIT onsHEET1  INSWING OPERATING UNIT
SHIM EXTERIOR T SEENOTE#7 / EXTERIOR VERTICAL CROSS SECTION VERTICAL CROSS SECTION VERTICAL CROSS SECTION
[ ON SHEET 1 S INTERIOR OPTIONAL 1X BUCK
SEE NOTE#7_/ INSWING OPERATING UNIT INSWING FIXED UNIT -— R
ON SHEET 1 VERTICAL CROSS SECTION VERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB
EXTERIOR INTERIOR EXTERIOR INTERIOR
1 1/4" MIN. i
EMBED. HINGE DETAIL: 5X3
g 114" MAX. TOP = 6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) 1 4,4 MiN. 1 114" MIN.
“TSHIM  rerioR CENTER TOP = 8 SCREWS (ITEM #8) EMBED EMBED
. =="-C _ CENTERBOTTOM = 8 SCREWS (ITEM #8) T ; ; T
K R BOTTOM = 8 SCREWS (ITEM #8) 5 4 B s B ’ o
: S — SRR N 7
1" MIN . ‘ . .5, G2 o
S e | o | 2888
, > | — | CONCRETE/ al @SR
B " 1" MIN " 1" MIN MASONRY £ K o
g 1" MIN ‘ 1" MIN ‘ PRUAA : s c:; 2 2
v U = ~
) INSWING OPERATING UNIT INSWING FIXED UNIT PlSEDT
VERTICAL CROSS SECTION VERTICAL CROSS SECTION An l_\' E=IY L
1" MIN [IJE 0 E 53
ﬁ Bl
i FIXED UNIT o Shor T —
HORIZONTAL CROSS SECTION i "
INSWING SHOWN & g
a ]
o
2 = n
o5 2
\ . 1 1/4" MIN. D T £
EMBED |~ w b B o = ]
P 1" MIN. “ \\\\\ \SEE ITEM #7 O: 2 g 5
1" MIN. > " MIN 2 ON SHEET 1 © 5 o Z
1" MI - j‘ . “ =< I g{g
" ) " N = 1/4" MAX. o NS
1" MIN. |2 1" MIN. ‘ O Rty g g 2 g
D Rz - <9
a, \ MIN. EMBEDINSW ; ZI 6 <Z(
. \\ T o8 E =
1" MIN. y 1" MIN. NN Wiz w”
= 1" MI 2 5§ o
MmN ‘ i \\ SEE NOTE #7 <=2z
A 4 NN ON SHEET 1 AT g =
| A UAMAX. || s NN 2 S 7 2
1/4" MAX SHIM o £ &
I : ‘ 11/4" MIN. X =
1 1/4" MIN. SHIM — ~— EMBED. AR owee: 2/23/2012
EMBED. == - NONE
INSWING HINGE JAMB AT FRAME INSWING LATCH JAMB AT FRAME f < . Fscogll
NoTEs: HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION v . 1/4S H'mx- B ov: G.LUBBECKE
[1 >OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM v Tenk. Bv: S.SAFFELL
EMBEDMENT IS ACHIEVED. CONGRETE/MASONRY 4 4/2% MIN. pe—

@ITEM #06, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP.

@AT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT.

BY OTHERS

BED

OPTIONAL MASONRY/CONCRETE INSTALL

CROSS SECTION OF HEAD JAMB OR SIDE JAMB

Y,
FBPE CERT. OF Aum.‘flc").'zgsm

D015860

SHEET 6

oF 7




5
TYP.

o

3-0 X 8-0 OUTSWING/INSWING

&

6-0 X 8-0 OUTSWING/INSWING

NOTE: < STA2'MAX. o o
ee SHIM FOR SUPPORT AT OR NEAR ——— 74" MAX. O.A. FRAME 0.A. FRAME FE
EACH ANCHOR IS REQUIRED —— ‘«3" TYP. 3" TYP.»‘ —— —— ‘«3" TYP. b g
— ; S
i | 1 ®\§ n n <
— [ <
_ c7 7 L I
[ | g 2.7 ¥ i “ T s
149" MAX. O.A. FRAME > £0 m | T f &
—— 3" " — | |- = wn = ) ~
\ | ‘ 3" TYP. - - 3" TYP. ‘ 5 2 i % il N
:)@)/’i i Ly oy Pyl ! ! 4 ‘ ez | B7 o X
2 o) I ! | - ! T ¢ ¢ L ¢ s
=30) L ' ' f <=2 ! &
C% < ! E E = + =9 E -
= B - - T ~O T [—
5 c% é X X | X Al f
o=z A7 B/ A7 = é = o X .
A e loeT e tor—tEl | oh ref -
<§( = Tl I —L -
o EE ! ! : 8 4 I +
L'-_ TR -+ | X X + © D7 . D7 I + i
%% O O b -
<
==
® %
[IolNe)]
©
»

(30) ANCHOR LOCATIONS

(18) ANCHOR LOCATIONS

(FROM EDGE OF FRAME) (FROM EDGE OF FRAME)

I =
r l—l ; Qs
1 | i Al | NG
| 1 [ T T T 1 T T -~
.o
ﬁ = 75'MAXFRAME-— = 7 Zg
12-0 X 8-0 OUTSWING/INSWING =T 3 TYP. =] ‘« =5
(50) ANCHOR LOCATIONS 1 bt ; 8y
(FROM EDGE OF FRAME) @& - : L f ~ O
Q =
: =30)
112 1/2" MAX FRAME X &-(%24 L &
= TP 3TYP.—— == "= 5 =
‘ 1 1oy 11 3 ¢ go%é_« ([:_ A7 ﬂt | %
—~ [ [ ~OsuWw
o T, 22 ¢
Q _ | | <2 PANEL | CENTER
= x
22 i % 5% O /@ .
2 -
o2 A7 A7 =2 Y
i B ¢ t b sE |
=
< PANEL | CENTER © | I
E% B O X T | = T f g
g é O ) ? 6-0 X 8-0 OUTSWING/INSWING ﬁ
S= + ! % (28) ANCHOR LOCATIONS (FROM EDGE OF FRAME)
53 - 6" TYP._| -6 TYP =
2” o k) /@
[} .
AL 1 JL _L

. o

9-0 X 8-0 OUTSWING/INSWING
(38) ANCHOR LOCATIONS
(FROM EDGE OF FRAME)

2- #8 X 3" PFH
SCREW

> 1- BOTTOM ASTRAGAL
== STRIKE PLUG

f ]

X X

<3 |

[

)

1- TOP ASTRAGAL
STRIKE PLATE

1- BOTTOM SHOOT
DETAIL D7-—D7 BOLT INSERT PLUG

OUTSWING ONLY

DETAIL C7-C7
OUTSWING OR INSWING

DETAIL B7

_DETAIL D7=D7 (10) ANCHOR LOCATIONS

INSWING ONLY

AT ASTRAGAL

& 2|

TvP." " TYP. 0|52 0 a

3"TYP.»‘ - o 255 3

— 3" TYP. : £ % by

mn

L AL w852

 —  E— - s 8553

o| B F

= RELs

) s Regd
o &~ X ey
[~4
- :
DETAIL A7 9(’
(6) ANCHOR LOCATIONS AT MULL 8
(LEFT MULL SHOWN, 3
RIGHT MULL OPPOSITE SHOWN) é

WITH NON-IMPACT FULL SIDELITES

Y,
FBPE CERT. dl‘ AUTH.

INSWING AND OUTSWING ANCHORING DETAILS

24 GA. STEEL W.E. 12-

PART OR ASSEMBLY

BT

g 2/23/2012

ﬂm NONE

WG. 8v: G.LUBBECKE

Pk ov: S.SAFFELL

DRAWING No.:

D015860

\30 29578 |sweET 7 oF 7




A %
) e
pon m
Qo 2
% >
On1 o ¥

Scope of work

Deenitris Weston
159 SE Kiwi Way
Lake City, FL 32056

Replace 2 back doors, size for size.

CJ] Custom Carpentry, Inc
222 SW Cross Pointe Ct
Lake City, FL 32024
386-754-6924 Office
CGC1513223



	Sheets and Views
	SWD038-1
	SWD038-2
	SWD038-2.1
	SWD038-3
	SWD038-4
	SWD038-5


